
Upper Horizontal Bookcase 

  

            

Tools Needed 
- Power screwdriver with a Phillips #2 medium head bit. 

Optional Items 
- Sandpaper. 

- Wood glue. 

- Paint 

Notes 
Setup takes roughly 1 hour. It is easiest if you have two people doing it. If you are not  

sure how to install a piece always refer back to the picture above to see how  

everything fits together. Please read through the entire instructions to familiarize  

yourself first before beginning assembly. 

Pilot holes have been predrilled into all necessary pieces. 

You may want to add soap to the screws, the soap acts as a lubricant and makes  

driving them into the wood easier. 

  

 

 



Step One 

           

Attach 2 Bookshelf post (2 x 6 x 18") to the Top of the Back Legs With 2-1/2" Black Course 

Screws. Connect with Two post connectors 2 x 6. 

  

Step Two 

 

Place the Shelf Support (2 x 4) flat on top of the Bookcase post and screw on tight with 2-1/2" 

Black Course Screws into the new post extension support installed in step above. 

  

 



Step Three 

          

           

Place the bottom shelf (3/4" x 7" x 79" Ply Board) (Note: For Queen Size and Extra Long it will 

be 80". For Dorm XXL It will be 84") on top of the (2x4) shelf support installed in above step. 

Screw the Ply shelf into the (2x4) support on tight with the Black 1-5/8" Course Screws. 

  

 

 



Step Four 

          

 

Screw the side pieces (3/4" x 8-1/2" x 12-3/4" Ply) with 1-5/8" Black Course Screws into the 

side of the Ply Shelf installed in above step. 

  

 

 

 



Step Five 

  

Place the Two (3/4" x 7" x 11-34") Center dividers in place and screw from under the Horizontal 

Ply installed  in step above. Use the Black 1-5/8 Course Screws. 

  

Step Six 

 

Rest the Top Ply shelf (3/4" x 7" x 80") (Note: will be longer for Queen Size, Extra Long and 

Dorm Extra Long) with Black 1-5/8" Course Screws. 



Step Seven 

Place the Back Masonite Board (1/8" x 13" x 72-1/2") (Note: It will be Longer for the Queen 

Size, Extra Long and Dorm XXL) on the back and screw tight with the Black 1-5/8" Course 

Screws. 

  

Parts: 

2- Post Extensions 2" x 6" x 18" 

2- Post Extension Connectors 2" x 6" 

1- Shelf Support 2" x 4" x 79" (Longer for Queen Size, Extra Long or Dorm 

XXL) 

1- Bottom Shelf Ply 3/4" x 7" x 79" (Longer for Queen Size, Extra Long or Dorm 

XXL) 

2- End Side Ply Pieces 3/4" x 8-1/2" x 12-3/4" 

2- Center Dividers 3/4" x 7" x 11-3/4" 

1- Top Shelf 3/4" x 7" x 80" (Longer for Queen Size, Extra Long or Dorm XXL) 

1- Back Masonite Panel Piece 1/8" x 13" x 67-1/2" (Longer for Queen Size, Extra 

Long or Dorm XXL) 

16- Black Course 2-1/2" Screws 

30- Black Course 1-5/8" Screws 

  


